“To provide world class
occupant protection

products, for preservation F itt i n g
and life” .
Instructions

25 Kalman Drive

Boronia VIC 3155

Phone: 1800 353 383

Fax: 03 9720 1300

Email: sales@autosafe.com.au

Web: www.autosafe.com.au

aut.-safe

02/2008 Onwards



https://manuals.plus/m/7019f976f9fb8cced811e31e3c22147a78b0ed76a3c9274b2402dddc9ced349c

MAKE: Hyundai

MODEL: iLoad

TYPE: Van

YEARS OF MANUFACTURE: 02/2008 Onwards.
PART NUMBER: CBHILD

POSITION: Behind the 1% row of seats.

KIT:

2- Grab Handle Brackets (165)
2- 150mm Offset Brackets

2- 400mm Slight Offset Brackets
4- M6x20mm Set Screws

4- M6x20 Washers

6- M10 Whiz Nuts

4- M10x20mm Set Screws

OO0O00000

Your kit was packed by:

IMPORTANT:

PLACE THE CARGO BARRIER IN VEHICLE WITH MESH TO THE REAR.

ALWAYS CHECK FOR FUEL LINES ETC BEFORE DRILLING AND
ALWAYS USE A DRILL STOP.

CHECK OVER SYTEMATICALLY TO MAKE SURE THEY ARE ALL TIGHT.

TOP:

Secure the grab handle bracket supplied into the M6 captives
located in the side can’t rail above the doors using M6x20mm
set screws and M6x20 washers. Secure one end of the 400mm
slight offset bracket to the top tag on the barrier using an
M10x20mm set screws and an M10 whiz nut. Secure the other

end of the 400mm ENE
[

slight offset
e
| V.

bracket to the

10mm thread f
~,‘ N

protruding out on
the grab handle
bracket using an
M10 whiz nut.

BASE:

Remove the two luggage tie down points closest to the Cargo
Barrier. Secure one end of the 150mm offset bracket to the
base tags on the Cargo Barrier using an M10x20mm set screw
and an M10 whiz
nut. Secure the
other end of
150mm offset
bracket to the
existing hole from
the luggage tie

down point using
the existing bolt.




